t-test

Dependent Variable: Change in Lines Crossed 

Group Name 	N 	Missing	Mean		Std Dev	SEM	
alarm cue	17	0		-2.176		2.378		0.577	
control		18	0		-0.111		2.654		0.626	

Difference	-2.065

t = -2.419 with 33 degrees of freedom. 

95 percent two-tailed confidence interval for difference of means: -3.802 to -0.329

Two-tailed P-value = 0.0212
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t-test	

Dependent Variable: Time Hiding

Group Name 	N 	Missing	Mean		Std Dev	SEM	
control		18	0		5.667		42.983		10.131	
alarm cue	17	0		24.471		36.217		8.784	

Difference	-18.804

t = -1.395  with 33 degrees of freedom. 

95 percent two-tailed confidence interval for difference of means: -46.221 to 8.613

Two-tailed P-value = 0.0361

[image: A graph of a chemical treatment

Description automatically generated]
image1.png
Lines Crossed

-1

-3

e
control alarm cue

Chemical Treatment





image2.png
Time Hiding

20

10

control alam cue
Chemical Treatment





